Potencias de 10 (C)

1,315+ 100

4,304 =100

5,006 <100

0,736 =100

7,434 =100

1,644 +100

0,473 + 100

6,806 = 100

7,418+ 100

0,957 =100

Calcule los siguientes cocientes.

8,38 =100

4,687 = 100

1,994 = 100

2,228 +100

3,256+ 100

8,083 = 100

4,931 =100

6,637 =100

1,633 = 100

6,143 100
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Potencias de 10 (C) Respuestas

1,315 =100
0,01315
4,304 = 100
0,04304
5,006 = 100
0,05006
0,736+ 100
0,00736
7,434+ 100
0,07434
1,644 =100
0,01644
0,473 + 100
0,00473
6,806 - 100
0,06806
7,418 = 100
0,07418
0,957 + 100
0,00957

Calcule los siguientes cocientes.

8,38 =100
0,0838
4,687 =100
0,04687
1,994 = 100
0,01994
2,228+ 100
0,02228
3,256+ 100
0,03256
8,083 = 100
0,08083
4,931 =100
0,04931
6,637+ 100
0,06637
1,633 =100
0,01633
6,143+ 100
0,06143
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